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MANAGEMENT OF THE PRODUCTION 
CAPACITY OF THE ENTERPRISE  
ON THE BASIS OF METHODS  
OF MATHEMATICAL PROGRAMMING  
Annotation. Authors of article have formulated a problem of optimum control of the 
production capacity of the enterprise. The solution of this task is shown through the 
ratios expressing necessary conditions of a strong extremum for a nonclassical varia-
tion problem of optimum control. By means of the presented technique it is possible to 
estimate the output of technologically similar production for achievement of the max-
imum profit on condition of certain technical and economic restrictions and the ac-
counting of change in time of the prices and prime cost of products. 
Keywords: problem of optimum control, production capacity, methods of mathematical 
programming. 
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